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1. ANABC ¥ > CA=3 > CB=5> ~ACB=120° > B| ™ 7|4zt @ ¥ K 45357
(A)AB=7 (B)/\ABC # ﬁﬁ (C)4 F|BCehgedp 1£ (D)BCi# + ¥ R E % @
<f#{7>

5z 7 39 AB*>=32+52-2x3x5xc0s120° —AB*=9+25+15 » AB=7

AABC & f=ix3xSxsin120 =20

EFBe

2. Fx HEAF B R y=V2HAx+13+Vx2-6x+45 k| &

(A) V96 (B) V106 (C) V116 (D) V126
<f#{7>

Y=V 13+Vx2-6x+45=) (x+2)2+9+,/ (x-3)2+36=y/ (x+2) 2+(0-3) +4/ (x-3) 2+(0+6)>
F & Bk P(x, 0)F] A(-2,3) ~ B(3, -6)¢1§E 4 {oPA+PB

¥ PvA~BE AP PA+PBed | & % AB=V5*+9’=/106 > £ B -

&

3. ¢ vt F dox o~y ik K 2x%xy-?=2025 0 B 2x-p fhdo] G °
(A)54 (B)63 (C)60 (D)57
<}§';’+fr>

" 2x%-xy-y*=2025
S (2x ) (x-y)=2025
£ 2x+y:m » X-y=n > Bl m~n>0-> ¢ mn=2025

m+n

m-2n

F A x=—

m+n m- -2n m+4n
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4. Afjr==-3<0 ¥ '
(A)x>-3 & x<-12 (B)x>3 & x<-12 (C)-12<x<-3 (D) -12<x<3
<fE47>
£_3§092x-3-3x-9§0 , —x-l2§0
x+3 x+3 x+3
.ox+t12

>0+ (x+12)(x+3)>0 > * x#-3

T x3 T
S>3 B x<-12 0 3 Ao

5. There are two points A(4, 1, -4) and B(10, 17, 6). Point P is on plane E: 3x+y-2z=7, so that
AP+BP has a minimum value m, then m= . (A)3V14 (B)6V14 (C)4V14(D)8V14

<f#{7>

#-A4,1,-4)~ B(10,17,6) i » T 5 E: 3x+y-2z=7

(12+1+8-7)(30+17-12-7)>0=»4 B &=L & E e ]

A4, 1, - T 5 E: 3xt+y-2z=T7 en@g 285 (1,0, -2)

> HHAERE A2, -1,0)

22 AP+BP% | & m=A'P+BP=A'B=+ 12°+18*+6’=6\/14 » £ B ©

6. ¥ R y=x*-ax+a-1 2 WA b y=x-2 2.+ 3 > Ka 2 #F?
(A)a<-1 (B)a>-1 (C)-1<a<3 (D)l<a<3

<fE47>

iz % xER > x*-ax+a-1>x-2 |2 =

x*+(-a-1)x+(a+1)> 0

"' D=(-a-1)*-4(a+1)<0

c.a*-2a-3<0  (a-3)(a+1)<0

Jo-1<a<3 0 E Co

7. ¢ Ao 4=5 5 P &= :
(A) V5 (B) 25 (C) 3V5 (D) 5v3
<fE47>

4=5927=5 > 2=5
] 8 =(23y=(2*)’=(V5)’=5V5 > £ D -

8. The solution of a inequality V> (xv/x)* is x>a or b<x<c. To find 4a+b+6c= .(A)13
(B)14 (C)15 (D)16
< ﬁ'; 7>

1 3
V= 2y
ok
(xVx)'= x“x2=x2
3 3x
X>x2
3 3x 3 1.2 9
Ox>1 » x2>? » 2x2>3x 0 4x°>9x° 0 4x>9 X>Z
3 3x 3 9
@1>x>0 » x2< 2x2<3x > 4x3<9x? » 4x<9 > X<—1>x>0

-'-a=§ » b=0 > =1 > HIf 4a+b+6c:4><§+0+6:15 » 35 C o
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1. If the mean of numerical data xi, x,,....... , X» 18 15, and the standard deviation is 4, if y=-3x;+1,
(=1, 2, 3,....., n), find the standard deviation (1 # % ) of y1, ya,....... , Vo to be

<f#{7>

" 'y,=-3x,~+1

.0,]-3|0,=4x3=12

2. IR EFARE2024 B 2R T X A ,ﬁ%«;mhw—%ﬁnéﬁé » P ar - X N
AR R4S B FZAARLS - AR A AR o 2 {BnF - A R LH
B RAPFE2 o B R XA A B o

<fE47>

XF1IXFNFTEDEELY 2 a1~ a3 ~as~as~as~ ay
¥ a1+a2+a3+a4+a5+a(,+a7=2024---@

a3=a1+a2

a4=a2+a3=a2+a1+a2=a1+2a2
as=aztas=atara\t2a=2a,t3a,

.'.a6=3a1+5a2 N a7=5a1+8a2

d O#F: 13a,+20a,=2024

a3 ﬁg:, a1_2024—20a2_13x155+9-13a2—7a2_155_a2+9—7a2

13 13 13
P~ ary=5—a,=155-5-2=148

L a1=148+20k » ay=5-13k (k % % #c)
148+20k245 © 142420k<5-13k D -5 <h<d =
B~ k=-5 = a;=48 > a,=70 > a;=48+70=118

3. © 4vlogatlogh=2 > F 10%e+10e 2 & | & ; e
<fE47>

lologa;rl (logb > TIEEER 9 1 OIOg“erlOlOgb Z\/WW , 1010gaJ2rlOlogb Zmzlo
104 10lgb >2()

4. B3k 0°<0<45° > ¥ 1+sin’0=3sinfcosf » F tanf= o

< gz; 17>

" 'sin%0+cos?6=1

F 7%= sin?0+cos’0+sin’0=3sinOcosd

= 2sin*0-3sinfcosf+ cos’*0=0

'cosf#0 0 A iF Gi cos’0=>»2tan’H-3tan6+1=0
(2tan6-1) (tanf-1)=0

“tanf=>2 anf=1(% & » 0°<6<45")
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5. There are two points A(1, 0, 1), B(-1, -2, 0) and a plane E:x+y+z=0 in space. Then the
coordinates (2 #%) of the intersection (% 2t) of straight line AB and plane E are

<fF47>
B AR (1221, 21, 1-0)

O (12026100 » 1=
1 4 3
17 )\2 1 Al (- —_ —
\—’I g\!:'-— *T( 5 9 5 9 5)
6.5 A~B~C=22 % > PBL5 5 — B s ¥ 4PA+5PB+xPC=2CA » B x=
<f#{7>

4PA+5PB+xPC=2(PA — PC)
.-.21TA=-5]?B+(-X-2)1TC . P4=- % PB+ (-xz-z)l?c

P 4B~ Ci,‘?@éf—ffﬁé—%-k%zl , x=-9
7. TG 4 58 A(-1,0)~ B(1,0) > & C: (x-3)2+(-4)=4 } B~ 8L P > |[AP+[BPP

< B o
< 17>

® P, y)
[APPHBPP=(c+ 1)y (x-1) =244 1)=20P +2

B OP<\3%+4242=7

B [APP+BP*<2x7*+2=100
8. & ik flx)id L f93)=93 ¥ $t& - & e n o fin)ytfint3)=n* i = 0 P A30)=

<jEii>
fnytfin3y=n’
- Ant3)Hnt+6)=(n+3)?

f(n) -f(n+6)=-6n-9
. f(30)-f(36)=-6x30-9
f(36)- f(42)=-6x36-9

+) f(184)- 190)=-6x84-9

£30)- (90)=-6(30+36+...+84)-90=-3510
* 90)+/(93)=90>
- f190)=8007 > f(30)=4497
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= EREEEE 105 0 #£204) XCRBUSEAER TS
%R w2 A(1,1,2) > B(-1,0,3) ~ CG,k 1)~ D2,0,-1) » = & 1 ABCD 444 5 5 >
PRk 5 P2 [ore & WA= xT 7 5 WAAR]

<fE47>
AB=(-2,-1,1)
AC=(2, k-1, -1)
AD=(1, -1, -3)
A
w6 8 ABCD S8k =xI|2 k1 -1|I=5
1 -1 3

> [5k-101=30 » |k-2|=6 > k=8 -4

2. Assume p is a prime number. If both roots of the equation x2-px-580p=0 are integers, then
/4 g p

<fFte>

x%-px-580p=0

o PP CS8O) PP +2*x5x29%p s
P - 2 — 2
D=p*+2*x5x29xpH_% > T =+ ¥
Op=2> D=22+2'x5x29x2=22x(1+23x5x29)= 221161 * £ % » T =
@p=5=> D=5 +2*x5x29x5=5’x(1+2*x29)= 5°x465 * &_% » T
®p=29=> D=292+2x5x29x29=29"x(1+2%x5)=29>x9* ¥_% » T =

x:29i§9><9 €7 B p=29

)
B
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